i5E KDJRE
5,400 (%52 ) 5,400 (#52)

4,400 (%2

A EHWITNWIN



% BX B FIv
3,300 (%t52) 3,600 (%32 )

= Bhik INE AT—F
3,600 (%t32) 2,700 (#52)

A EHWITNWIN



BX SRrEhILE EBX ERiAO—RbE—7
3,500 (F32) 3,200 (F232)

BX EHTELANFE BX ShEHEFHLE
3,000 (%52 3,500 (%52

BX S5hKHFgeO—XbE—7 BX SEEHEANFEX
3,200 (#52) 3,000 (%52
HRAESHWITNWIN



BX FRLi LB TXYERABRE
3,000/ (%t 3,200 ()

iEHM FRERFRE LB B L3RE
2,700M (#t2) 2,700M (#t2)

REESHEWITNWIN



L X7-—F L REH
2,700M (#t2) 2,700M (Bt:2)

o o—xRprE—7 s SEHE
2,500 (#32) 2,500 (#:32)

A EHWITNWIN



